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Area of a triangle 

using trig 
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 θ =  2π × n ± α     General solution 
for cosine 
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  Midpoint Formula  

 m =  y2 – y1

x2 – x1   
  Gradient Formula  

 m =  tanθ     Gradient using trig 

 y – y1 =  m(x – x1)     Point-gradient 
formula 
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  Two-point formula  

 m1 =  m2     Parallel lines proof 

 m1m2 =  -1     Perpendicular lines 
proof 
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lines 
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  Dividing interval in 
ratio m:n 



dy
dx

 =  lim
h → 0

 f(x + h) –  f(x)
h   
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Equation of basic 
parabola. 

Focus 
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arithmetic series 
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arithmetic series 
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 180°      π radians =   

 C =  2πr     Circumference of a 
circle 
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  Small Angles 
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Growth & Decay 
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  Special result for 

acceleration 
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  Cartesian equation 
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  Halving the interval 

method 
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where some are 
alike 

 (n – 1)!     Arrangements in a 
circle 

 


